Distribution Theory MT20 !/

Lecture 3: e Definition of distribution

 First examples, local
Lebesgue spaces

» The boundedness peoperty
» Order of Aistribution
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e When u: 3(9.\-) C s lineqr,
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Bracketl notation

If ve () , $€IN) write

wcd) = <w,®2
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Local lebesque spaces
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Fix pe L™l . |
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Note

. 1, (@) is a vector space

i P .
( for the Same reasons Qqs L as)

[f‘ (L) s strictly descenJi@
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Well-defined = et $eD(D). /
Then K= SoBpQ) CSL cempact

X 14000l dx = \S(\ewq,cx)\ﬁ,

.‘;* !&5\ X '\g

R 4 |

< (S\F(w&)\\‘abu\)‘r (S \¢ GO\ JQ {on
X | <

Theh -\" \inear b€ ca\{se ;)Zejw\
. y: q,sao M n\/

'S, ond

Xhen  for some compact WSl
Suyytc}'s) cX o S/ avnd

L | j
\Tf @i\\ : e \Ydx)? \lés\\K"*' 0.
© |




%' 12/

ue D) if

2(@ u:d)-> ¢ h'-neqr-

@ u D—conhvuovs

. and when O holds with
w defined on _a__/_l of D)

cnances are  that @ holds |
oo ... still 1t 1S worthwhfle

to teformulate @ !




@ The boundedness property

Assume w: D)=L is linear.

Thewn w s F- cortinvovs €

for every compact K C Ly
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‘&' Assume u has the l‘l/
boundedness property. Let
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[DEF] Order of distribution

Let W€ D'(D).

¥ w had ordet at most ™ME \N,
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Remarks The boundedness proyel"f)(
says, \oosely speakivg , that a
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Let ¢ L',“(.Q). l‘)/
hen ‘\} € 33;(573 .

let K<Sy be compdct,
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Generalization: Let p be
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Svyyose 1t did. Take r>o
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